2003-2004 7TH GRADE CONTEST

Answers

29.

3xv25 =5x2 A) v3 B) v9 C) vi5 D) v8T

29.

30.

When you divide my fraction by yours, the result is 40. When
you divide your fraction by mine, the result is

A) 0025 B) 025 C) 040 D) 250

31

The area of rectangle R is 48. If its sides are
whole numbers, then its perimeter cannot be
A) 28 B) 38
C) 58 D) 98

32.

I have twice as many nickels as dimes. My
dimes are worth $3.30. My nickels are worth =

A) $1.15 B) $330 C) $6.60 D) $13.20

30.

31

32.

33.

? 3.4 4 8 4 24
Which is true? A) <9B)13<9C) <9D)3<9

33.

The square of an integer is a perfect square. What is the smallest
perfect square that is a multiple of 2, of 4, of 6, and of 8?

A) 64 B) 144 C) 576 D) 2304

35.

P9t =28 2 A) 812 B) 182 ) 7 D) 3B

35.

36.

The greatest common factor of 10X 20 and 20% 30 is
A) 10 B) 10x10 C) 10x20 D) 10x20x30

36.

37.

975 _ 357
7x§><§—g><7><§x?_ A) 27 B)y18 C)9 D)3

37.

My dog’s frisbee is in the shape
of a circle whose area is % How
long is a radius of this frisbee?

H: Bx O5 D5

39.

What is the ones’ digit of 20032004
[Hint: Look for a pattern.]

A) 9 B) 7

C) 3 D) 1

38.

39.

5 195 L 197 , 199 .
) +..+ = 2 + P + T 1S
D) 20000

The value of the 100-term sum =+ =+ =

A) 5000 B) 10000

3
2
C) 15000

1
2

The end of the contest &9

Visit our Web site at hitp://www.mathleague.com
Solutions on Page 81 * Answers on Page 140
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2003-04 Annual 7th Grade Contest

Tuesday, February 17 or 24, 2004
Instructions ;

Time You will have only 30 minutes working time for this contest. You
might be unable to finish all 40 questions in the time allowed.

Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

Format and Point Value This is a multiple-choice contest. Each an-
swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.
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